9/16/22, 10:31 PM

|Subject : Economics (PGQP44)

Sl. No.1
QBID:1554931

Choose the correct form of verb to fill in the blank.

Will the union leader ?

(A) arrested

(B) be arrested

(C) was arrested

(D) were arrested

Answer Given by Candidate : B

Sl. No.2
QBID:1554932

Choose the appropriate preposition to complete the sentence :

The young child carried the heavy bucket the stairs.

(A) by

(B) from

(c) above

(D) besides

Answer Given by Candidate : B

Sl. No.3
QBID:1554933

Pick out the correctly spelt word.

(A) accommodation
(B) acommodation
(C) accomodation

(D) acmodation
Answer Given by Candidate : C

SI. No.4
QBID:1554934

Identify the correct form of indirect speech of the following sentence.

Arpit says, "She is an intelligent girl”.

(A) Arpit says that she is an intelligent gul.
(8) Arpit said that she is an mtelligent girl.
(C) Arpit said that she was an mtelligent girl.
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(D) Arpit asked him if she is an mtelligent girl.
Answer Given by Candidate : C

SlI. No.5
QBID:1554935

Rearrange the following parts of a sentence labeled as PQRS to make a
meaningful sentence

P Your hope for
Q if money 18
R never have it

S mdependence you will
(A) QPSR
(8) RSPQ
(c) PQRS
(p) RPSQ

Answer Given by Candidate : A

SI. No.6
QBID:1554936

Pick out the antonym of "spoil’.

(A) dignity
(B) embellish
(¢) abolish

(D) abandon
Answer Given by Candidate : A

SI. No.7
QBID:1554937

Pick out the meaning of underlined idiom in the following sentence.

The judge called for an explanation of his misconduct.

(A) demanded

(B) desired

(€) discussed

(D) repeated

Answer Given by Candidate : A

Sl. No.8
QBID:1554938

Choose the correct passive voice form of the following sentence :

You can take it away.

(A) It can be taken away.

(B)
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You have taken it away.

(c) It can't be taken away

(p) You have the choice to take it away.
Answer Given by Candidate : A

SI. No.9
QBID:1554939

Pick out the synonym of the following word.

Languid

(a) lazy
(B) smart

(C) genius

(p) mtelligent
Answer Given by Candidate : A

Sl. No.10
QBID:15549310

Choose the correct sentence.

(A) They never go on holiday, do they ?

(8) They never go on holiday, don't they ?
(¢) They never go on holiday, haven't they ?
(p) They never go on holiday. did they ?

Answer Given by Candidate : Not Answered

sl. No.11
QBID:15549311

What 18 a Green Chip company ?

(A) That focuses on eco-friendliness.

(8) That focuses on forest products.
(c) That has no loan pending.
(p) That has not launched IPO yet.

Answer Given by Candidate : A

Sl. No.12
QBID:15549312

When Waquar Younis, the Pakistani fagt bowler made his debut in Test Cricket
at Karachi, there was a batsman from the visiting side, who also made his debut.
Who was he ?

(A) Rahul Drawid

(8) Saurabh Ganguli
(¢) VVS Laxman
(D) Sachin Tendulkar

Answer Given by Candidate : Not Answered

Sl. No.13
QBID:15549313
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| Match List I with List IT

List I

List IT
(I\Iakegga:g:;::ﬁused N Used for/by
A, Green 1. Evil characters
B. Red II. Noble and Sages
. Black III. Divine Beings
D. White Beard  IV. Forest dewellers / hunter

Choose the correct answer from the options given below :
(a) A-IL, B-I, C-IV, D-III
(8) A-IV, B-III. C-II, D-I
(c) A-L B-II, C-III, D-IV
(p) A-IIIL, B-IV, C-1, D-II

Answer Given by Candidate : D

Sl. No.14
QBID:15549314

Je suis Chariie (I am Charlie) was a slogan spread around after terrorist attacked
on :

(A) Charlie Charlie - Children's magazine
(B) Charlie - the footballer

(¢) Charlie - the Restaurant

(D) Charlie Hebdo

Answer Given by Candidate : Not Answered

Sl. No.15
QBID:15549315

Who opened the National Library n Kolkata m 1953 ?
(A) Jawaharlal Nehru

(B) Sardar Patel

(€) Maulana Abul Kalam Azad

(o) Dr. B. C. Roy

Answer Given by Candidate : Not Answered

Sl. No.16
QBID:15549316

Find the missing alphabet

BDGK. EGIN. MORV.L

(A) LNPS
) LNQVWV
(c LMQV
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(D) LNQU

Answer Given by Candidate : D

SI. No.17
QBID:15549317

D, E. F, G, H. I are six persons sitting around hexagonal table, each at one
corner and facmg the center of the table. D is second to the left of 1. E 1s the
neighbour of F and G. H is second to the left of G. Find who are the neighbours
of H.

(A) Dand G
(8) DandlI
(¢) Dand E
(D) Tand G

Answer Given by Candidate : B

Sl. No.18

QBID:15549318
Of the 100 students in a class, anyone who chooses to study English also studies
computer science. However. no student choose to study English and Physics. 16
students do Physics and computer Science. All the students do at least one of the
three subjects. No. of students who study only one subject 1s more than students
who study more than one subject. What are the maximum number of students
who could have studied Physics only?

(A) 16
(B) 44
(c) 84
(D) 68
Answer Given by Candidate : Not Answered

Sl. No.19
QBID:15549319

The followmng question has an underlined word. Choose the word from the given
choices that 1s essential part of the underlined word.

Electric Mixer

(A) Jug
(B) Motor
(¢) Stand

(D) Switch
Answer Given by Candidate : B

Sl. No.20
QBID:15549320

Select a suitable figure from the Answer figures that would replace the question

mark (?)
Question Figure Answer Figure
[ . oo *
2m(e | wsee
(A) (B) (€ (D) (1) 2 Gy @)
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| (a) 1
(B) 2
(c) 3
(p) 4

Answer Given by Candidate : C

Sl. No.21
QBID:15549321

In how many ways can 7 different balls be distributed in 5 different boxes. If any

box can contain any number of balls except that ball 3 can only be put into box 3
or box 47

(A) 2 =6

(B) &°

(€) 2 x5O

(p) 5°

Answer Given by Candidate : A

Sl. No.22
QBID:15549322

Given that 10048 =x, 10070 = y and x% = y2, then the value of z is close to :

(A) 3.7

(B) 2.9

(c) 1.88

(D) 1.45

Answer Given by Candidate : Not Answered

Sl. No.23
QBID:15549323

In how many ways can 9 different colour balls be arranged m a row so that
black, white. red and green balls are never together 7

(A) 146200
(B8) 219600
(c) 314562
(D) 345600
Answer Given by Candidate : Not Answered

Sl. No.24
QBID:15549324

A tap can fill a tank in 6 hours. After half the tank is filled, three more sunilar
taps are opened. What is the total tune taken to fill the tank completely ?

(A) 3 hrs 15 min

(B) 4 hrs 15 min

(€) 3 hrs 45 min

(D) 4 hrs

Answer Given by Candidate : Not Answered

Sl. No.25
QBID:15549325
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| A person takes 20 minutes more to cover a certain distance by decreasing his
speed by 20%. What is the time taken to cover the distance at his original speed
I"}

(A) 1hr
(8) 1 hr 20 min
(¢) 1hr10mm

(D) 50 min
Answer Given by Candidate : Not Answered

Sl. No.26
QBID:1424751

Bandwagon effect makes demand more

(A) inelastic
(B) elastic
(C) remains same

(D) unitary elastic

CEGHE R I G (Bandwagan effect) T Bl 3{%— CEIGIS
(A) Sf=Ria

(8) =Elia

(c) HHIH

(D) SO aH

Answer Given by Candidate : B

SI. No.27
QBID:1424752

With reference to the Bertrand model, which of the following is correct?
(A) The duopolists recognize their mterdependence

(B) It explains price rigidity

(¢) Each duopolist assumes that the other keeps its price constant

(p) Each duopolist assumes that the other keeps its quality constant
927 (Bertrand) 9@ & ¥4 &, 9 § 9 &9 93 22

(A) Te-Sftsrl Sl ool ffar S

(B) 1§ HIAd Tedl HI auiH 3l 2l

(©) &% G-2fta{l A 2 76 o ol Fima R v

(D) W& E-HUEH A1 & &6 o e /e (quantity) R T&E

Answer Given by Candidate : A

SI. No.28
QBID:1424753

If the demand for agricultural products is inelastic. then
(A) As the prices decrease, the revenues earned by producers increase

(B)
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~ As the prices decrease. the revenues earned by producers decrease

The percentage decrease i prices 1s lower than the percentage increase m

(© demand

(p) Rising prices do not lead to differentiation in producers income
ofe HY Fonel #1 9 39 & -
(A) BIET T4 W, SAIGH! 5T 3ol oG gt ol

(B) ®Hd e W, Iaes! gRT aifea g gedl &1
(c) @wdl # ufgwa =4, 7 ¥ ufgwa &0 @ 387 500
(D) Todl FiFg SISl B o # Bisiew 381 S0 &

Answer Given by Candidate : A

Sl. No.29
QBID:1424754

A fall in the price of a commodity whose demand curve ig a rectangular
hyperbola causes total expenditures on the commodity to

(A) Increase

(B) Decrease

(¢) Remain unchanged

(D) Increase with constant rate

Us O] forde] Jif 9 AaaieR fidaaed (rectangular hyperbola) #1 ®19d # 814 1@
o9 IR W FO T

(A) T

(B) =&

(c) Rrwm

(p) RBrRaxdsgm

Answer Given by Candidate : C

Sl. No.30
QBID:1424755

The Engel curve for a Giffen good 1s

(A) Negatively sloped
(8) Positively sloped

(c) Vertical

(p) Horizontal

FIitF= o5 &1 Uoid g BIT-
(A) TENEHS 2T

(B) THNIHS BId
(c) THEEd

(D) &fa

Answer Given by Candidate : C

Sl. No.31
QBID:1424756
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In the case of price leadership by the dominant firm, all the firms in the purely
oligopolistic mdustry will produce their best level of output

(A) Always
(B) Never
(C) Sometines

(D) In short un

WYTH BH g, BIFd gd 31 Ul § G seaiier SR # 94 BH 99 Sded &
FaToH W) BT e Hi|

(A) FH=N

(B) =4I &l
(C) H&FEN
(D) eaHT H

Answer Given by Candidate : Not Answered

Sl. No.32
QBID:1424757

The Golden Rule rate of savings refers to

(a) that level of savings which is the maximum possible achievable in an economy
() that level of savings rate where the consumption is maximised at the steady state
(c) that level of savings rate where the consumption is minimised at the steady state
(p) any level of savings rate

90 @1 Tieed (99 o< by § 98fia § 2

(A) &0t erlouewl § Sea wafaa wi aren s9ad &1 ®R

(B) =90 3% &1 96 ®R Tal R R W IUHN A 2 |

(C) T9d &Y &1 9g WK wel R SERl H JUHF <FaH ¢ |

(D) &0 &R FHRE W TR

Answer Given by Candidate : A

Sl. No.33
QBID:1424758

The best or optimum level of output for a perfectly competitive firm is given by
the point where

(A) MR equals MC
(8) MR equals AC

(c) MR exceeds MC by the greater amount

(p) MR equals MC and MC is rising

us vt o &1 wafan / gpan Senes fag ef grm ?
(A) MR TR 8 MC

(B) MR SR & AC

(€) MR, MC ¥ 5gd <015l &
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(D) MR TU&R & MC a1 MC 52 %1 &1

Answer Given by Candidate : D

Sl. No.34
QBID:1424759

Ageregate demand is -

Negatively related to the price level because a decline in the price level has a

(A) negative effect on the demand for output.

Negatively related to the price level because a decline n the price level has a

(B) positive effect on the demand for output.

Positively related to the price level because a decline m the price level has a

(© negative effect on the demand for output.

Positively related to the price level because a decline i the price level has a

(P) positive effect on the demand for output.

THT A &-

(A) FIAT TR § AIERAS =9 § G695 o, [ile SIATER ° Al $1 IS $ A TR THRIHEE
YT BidT &l

FHT TR T TERIHS =9 § T95 & HilE HiAd w1 § FH 51 1 3 $ AT
HAHRIHS UHE 511 o

FHd TR H GRS 70 § TEg § Hife SAd T # S48 1 39S F1 A 9
TERIHS UHE BT 21

(B)

(©)

FIAd R ¥ TFRIAS ¥ g ¢ File $Ad W1 5 $H FT IS $I A | TFIHS
THTE Bl

Answer Given by Candidate : B

(D)

Sl. No.35
QBID:14247510

The demand for money s -

(A) Positively related to output and the rate of interest.

(B) Inversely related to output and the rate of nterest.

(c) Inversely related to output and Positively related to the rate of interest.
(p) Positively related to output and mversely related to the rate of interest.
Hel &1 AR

(A) TEEA T & B X H TSRS 94 B

(B) IdieH d &9 &1 &% H ABRIdHS 999 ¢

(C) Tdied § THRES d o0ie & 22 & SHRIES 989 5

(D) TS § UFNIHE T o0 &1 8% § THRIAS 999 T

Answer Given by Candidate : D

Sl. No.36
QBID:14247511

The user cost of capital is :

(A) The real rate of mterest
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(B) The nominal rate of mterest

(¢) The real rate of mterest plus the rate of depreciation

(p) The nominal rate of mterest plus the rate of depreciation
ol @1 SUER T (user cost) &-

(A) =TS FI IRAGS a1

(B) TOTd HI ¥5d &l BH &X

(C) =OTH & TIdidd &Y + Hedgld &I &%

(D) ®Td ® Adg o + Heue™ &I &X

Answer Given by Candidate : D

Sl. No.37
QBID:14247512

When o = 3/4 and B = 1/4 for the Cobb Douglas production function, returns to
scale are

(A) Constant

(B) Increasing
(¢) Decreasing

(p) First increasing and then decreasing

TE o = 3/4 T P = 1/4. G9 F1d a9 Idled Bad &, T & uawa g-
(A) TAE

(B) Fed

(©) wed

(D) ¥R™ H Sgd [ ged

Answer Given by Candidate : A

Sl. No.38
QBID:14247513

The natural rate of unemployment equals the sum of :

(A) Frictionally and structurally unemployed

(8) Frictionally and cyclically unemployed

(c) Structurally and eyclically unemployed

(p) Frictionally, structurally and eyclically unemployed

SR $1 AP d® o 59 & g & s 87

(A) FuUET R ST S SR

(B) THU SR Tebid sRienT

(C) HE=Te® X TG SIeRTH

(D) THUWHG, SREATHS AN IH T SRR

Answer Given by Candidate : D

Sl. No.39
QBID:14247514
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Which of the following statements is correct?

A variable 18 endogenous when its value 1s determined by the forces outside the

(A) model.

(B) A change in an exogenous variable is classified as an autonomous change.

A variable ig exogenous when its value is determined by the forces within the

(© model.

A variable s autonomous when its value i1s determined by the forces within the
model.

Fefatad § § oFH-91 349 961 &-
(A) UF T H<ond &, IS 591 Ied Alsd & ared aat 9 [H4ia g &l

(B) gi%ﬁiﬁ =R gREd= &1 WEd UNa0 (autonomous change) F w9 H Fifiga &1 oral
|

(C) UF T afgwTd ohl o sHS! Hed Hisd & e gai d HuiRa grm
(D) U& T WA & o8 59F1  ou Aisd & Haie sar 9 i g gl

Answer Given by Candidate : D

Sl. No.40
QBID:14247515

According to the Phillips curve, unemployment will return to the natural rate when

(D)

(A) Normal wages are equal to expected wages.
(B) Real wages are back at long-run equilibrium level.
(¢) Nomunal wages are growing faster than inflation.

(p) Inflation 1s higher than the growth of nominal wages.

fOhfere ash o SITHR. dRISHIRI. WiPplde HTRIT TR dd ST ole-
(A) HTHT OeIgLl, HANerd qeigel & a=1ex gl |
(8) TRGIAD HOIGe] argdIai- Hqa SR R dled! (back) T

o [ e = Ll
(©) HIfsP Aoigyl, GERIfd I ool 961 ¢

(0) HERGIfA, Aifad Aoiedl @1 gfa I S sidi 8|

Answer Given by Candidate : A

Sl. No.41
QBID:14247516

The coefficient of Non-determmation 1s equal to -

Explained Variance
Total Variance

(A)

Unexplained Variance

(B) Total Variance

Explained Variance

(c) 1+

Total Variance

(D)
https://test.cbexams.com/ntacuetpgcandresponses03/candresponse_r.aspx?htno=%2baa40j0RYddSttZGrkRNAQ%3d%3d&id=SuzJT7fJCGO... 12/45




9/16/22, 10:31 PM https://test.cbexams.com/ntacuetpgcandresponses03/candresponse_r.aspx?htno=%2baa40j0RYddSttZGrkRNAQ%3d%3d...

Unexplained Variance

Total Variance

e Ui e & aaR 2
TEIHT THTI]

) P

FHETEGT THT

& T

(A

(B)

() 1+
HE THII

AT
Sl A M

Answer Given by Candidate : Not Answered

o) 1+

Sl. No.42
QBID:14247517

If the two lines of regression are perpendicular to each other then the value of
coefficient of correlation is -

(A) O
(8) +1
(c) -1
(D) 2

Tig SH W Y81 U6 gOX & Oad & af Seaay f0E &1 7F &1 GRT?
(A) 0O

(8) *1

c) -1

(p) 2
Answer Given by Candidate : A

Sl. No.43
QBID:14247518

The number of terms in the expansion of the binomial distribution (a + b)* is -
(A) 4

(B) 5

(c) 6

(D) 3

faug 97 (a + b)* ¥ fowor # ust 31 W= F@w EF

(A) 4
(B) 5
(c) 6
(D) 3

Answer Given by Candidate : Not Answered
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Sl. No.44
QBID:14247519

What is the integral of cosec? x with respect to x?
(A) tanx +C

(B) secx +C

(¢) —tanx +C

(D) —cotx +C

x & U8 cosec? x B THIHA &1 G2

(A) tanx +C

(B) secx +C

(¢) —tanx +C

(D) —cotx +C
Answer Given by Candidate : Not Answered

SI. No.45
QBID:14247520

For the set 4 = {3. 4}, find Power Set P(4)

() {{3}. {4}}

) {{3}. {4}, 3.4}}

© to -85 41

() Lo -3} {4}, {3.4}}

=T A = {3, 4} ¥ o ofE (Power) ¥=10 P(4) 71 $-
() {{3}. {4}}

) {{3}. {4}. 3. 4}}

© Lo -3} 43

@) to -3} 1) {3.4}}
Answer Given by Candidate : C

Sl. No.46
QBID:14247521

If the international terms of trade settle at a level that 1s between each country's
opportunity cost. then

(A) There is no basis for gainful trade for either country
(8) Both countries gain from trade
(¢) Only one country gains from trade

(p) One country gains and the other country looses from trade

Al RIS SATIR 1 2 &1 <=1 B TR AT H i 7d 5idll § T

(a) G T & ol ATHER] OR &1 S5 YR T6l o
8) SIS &I AR T 1Y BT o
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| (©) Fad U 3% 1 TUR © BrEa el 8
(0) U <X Bl IR Y A1 BI1 & iR T3 <% &I MR ¥ 81 el 5|

Answer Given by Candidate : B

Sl. No.47
QBID:14247522

Haberler's theory of opportunity cost 1s represented by
(A) Indifference curves

(8) Isoquants

(€) Reaction curves

(p) Production possibility curve

=78 § B 380N $ AT U [Ser i ISR S
(A) TEATH

(B) #HHIHIZ

(c) wiafem g%

(D) STES GG T

Answer Given by Candidate : Not Answered

Sl. No.48
QBID:14247523

An exchange rate which also takes mto account the relative prices of products in
the countries being compared is known as -

(A) Appreciation i exchange rate
(8) Nominal exchange rate

(¢) Real exchange rate

(p) Depreciation in exchange rate

qo ey o gl onit # fafmg o o awgsl & gomes Sl B @ | @l & 9 &
FEd 87

(A) faFmm e Hafg
(B) HiTHw faFHg =X
(c) arElg® faiHg =X
(p) feFmo e d ™

Answer Given by Candidate : C

Sl. No.49
QBID:14247524

Which of the following is consistent with the idea of expansionary fiscal policy?
(A) The fact that government increases expenditure during recession.
(B) The fact that the tax of unleaded petrol is lower than that on leaded petrol.

The fact that as people’s mcome merease the amount that they pay in taxes also

< . )
INCreases.

(p) The fact that congestion charges reduce traffic in the city centres.

https://test.cbexams.com/ntacuetpgcandresponses03/candresponse_r.aspx?htno=%2baa40j0RYddSttZGrkRNAQ%3d%3d&id=SuzJT7fJCGO...
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| o @ - fiderds aueniin ity & fier @ srvm @A g ?
(A) HEl & SR TSR T Fgri 5l

(B) TS aIdt Ugial & gar-l A &1 918 a1dt UET IR &Y &H Bial Bl
(C) T #I ¥& S+ T I+ g =T A o 9241 =l

(D) T Ff # U9 85 a9 Yo 9 £ithe &1 o 2

Answer Given by Candidate : A

Sl. No.50
QBID:14247525

i [
R o

1
Find the minor of element 8 in the determinant A =|?

4]
[
et
b

(A) ©

(B) —6
(c) 12
(D) —12

6
o| T Ug 8 BT Y YRIUD J1d DA |

12

RS A =

-J n I

G0 b

(A) 6

(B) —6

(c) 12

(p) —12

Answer Given by Candidate : A

SI. No.51
QBID:14247526

For the total cost function € = 1000 + 120x + 14x2 + x°, find marginal cost
function.

(A) 1000 +x + 14x% + 3x
(B) 120 + 28x + 3x?

(C) 28x+ 32

(D) 1202 + 14x3 +x*

F A Bed C = 1000 + 120x + 14x2 + x? & R dimm 970 Ha 31d S

(A) 1000 + x + 1422 + 3x
(B) 120+ 28x + 32
(C) 28x + 3x2

(D) 120x2 + 14x3 + x4
Answer Given by Candidate : B

SI. No.52
QBID:14247527
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If the value of standard deviation i 3 and that of arithmetic mean is 9 then find
the value of coefficient of variation :

(A) 0.33%

(B) 33.33%

(c) 3.33%

(p) 0.03%

ofg A gea 1919 3 & U e A #5108 °f famwn qoie &1 7 39 S
(A) 0.33%

(B) 33.33%

(©) 3.33%

(p) 0.03%

Answer Given by Candidate : B

Sl. No.53
QBID:14247528

; : . 3 ;
For an economy. the marginal propensity to consume 18 a and the marginal tax

rate 18 5 the value of multiplier 1s

(A) 3
3

(B) %
1

(©) E

(p) 12
e sitfegaen § gmiT S T gl 2§ oiRdmig R AR o 3
TS0 &1 9 1 8T

(A) 3

(B)

(©)

= Ll | = L
3 o | w2

(D)

Answer Given by Candidate : C

Sl. No.54
QBID:14247529

In which year was the Kisan Credit Card started?
(A) 1995
(B) 1998
(c) 1994
(p) 2000

https://test.cbexams.com/ntacuetpgcandresponses03/candresponse_r.aspx?htno=%2baa40j0RYddSttZGrkRNAQ%3d%3d&id=SuzJT7fJCGO... 17145
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| fram wize 31 feg of 7 urer gam

(A) 1995
(B) 1998
(c) 1994
(p) 2000
Answer Given by Candidate : Not Answered

Sl. No.55
QBID:14247530

If one of the regression coefficients value i1s greater than 1, then the value of the
second regression coefficient must be -

(A) less than 1
(B) greater than 1

(c) equaltol

(p) equal to 0

g T% WraTee e &1 714 1 § ¥ g, @ gax Udigass o &1 A1 GH-
(A) 18 &H

(B) 1 U=

(C) 1% =N

(D) 0 & &R
Answer Given by Candidate : A

Sl. No.56
QBID:14247531

On the imposition of a tariff, the welfare of a country improves

(A) irespective of any other factor

When the dead weight loss due to production and consumption distribution is

(B) greater than terms of trade gain

When the terms of trade gains is greater than the losses due to production and

(©) consumption distribution

(D) under no circumstances

Tt g & SR 9, 3 & Hedr H gYR B © -

(A) TN e RO R |

(B) W ST (aUR) &7 FAIE AR ITHFT faawur SR iy & wdt § fie g )

(C) TE MR TH I ¥ IEIET gyl STHI fGau F SR 54 arel 51 8 3ifi gt 21
(p) T ot ofe=ufa H a1

Answer Given by Candidate : C

Sl. No.57
QBID:14247532

In a symmetrical distribution the value of coefficient of Skewness is

(A) 1

(B) -1
https://test.cbexams.com/ntacuetpgcandresponses03/candresponse_r.aspx?htno=%2baa40j0RYddSttZGrkRNAQ%3d%3d&id=SuzJT7fJCGO... 18/45




(c) 0
(D) 3
U ST §e | [99Har Ui &1 J1F §1 5R
(A) 1
(B) —1
(© 0
(D) 3

Answer Given by Candidate : C

Sl. No.58
QBID:14247533

Rural landless employment guarantee program was launched in the year
(A) 1980

(B) 1982

(c) 1983

(D) 1985

oo ad & oo Y TeRTR TRUE dieET AR B 152

(A) 1980

(B) 1982

(c) 1983

(D) 1985

Answer Given by Candidate : Not Answered

Sl. No.59
QBID:14247534

Consumption : C =100 + 0.84
:1=50

The output produced by the economy is 800. The level of unplanned inventories 1s
(A) 100

(B) 10

(c) —10

(p) 150

JUUNT :C = 100+ 0.84

=30

g rferaey] gRI I 33U BT U 800 B I f971 Tl & daR $i 115
el BT TR TGN 2

(a) 100

(B) 10

(c) —10

(p) 150

https://test.cbexams.com/ntacuetpgcandresponses03/candresponse_r.aspx?htno=%2baa40j0RYddSttZGrkRNAQ%3d%3d&id=SuzJT7fJCGO...

9/16/22, 10:31 PM https://test.cbexams.com/ntacuetpgcandresponses03/candresponse_r.aspx?htno=%2baa40j0RYddSttZGrkRNAQ%3d%3d...

19/45



9/16/22, 10:31 PM https://test.cbexams.com/ntacuetpgcandresponses03/candresponse_r.aspx?htno=%2baa40j0RYddSttZGrkRNAQ%3d%3d...

Answer Given by Candidate : Not Answered

Sl. No.60
QBID:14247535

Match Last I with List IT :

IISTI LISTII
Ivestment

£ ISdottiolioe 1. |B.EKahin

B Emploviment I Milton

| Multiplier " |Friedman
Restatement of

¢, |leguanuey | gy h g
theorv of
money

B, [PUPPRBES | yo |ypaer
ECONOMICS ?

Choose the correct answer from the options given below :
(A) A-IV, B-1, C-II, D-III
(8) A-I, B-II, C-III, D-IV
() A-IV, B-IIL, C-III D-1
(p) A-II, B-IV, C-III, D-I

i 1P Y Y 11 DT HaH S|

T T I

A [fafFEwue | L ;ﬁﬁw

B. RIWR i | 1. |freed hed

C. |3 g Hif=dl| L |7 T
R HE 7
s 9158 !

D. | IV. 9. 0. &9

i fu U fdeedl § 9 981 3R 1 999 Hifeid ;
(A) A-IV, B-I, C-II, D-III
(8) A-L B-IL, C-III, D-IV
(©) A-IV, B-II, C-ITI D-I
(0) A-IL, B-IV, C-III, D-I

Answer Given by Candidate : Not Answered

Sl. No.61
QBID:14247536
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| Match List I with List IT :

LISTI LISTII

A b I.  |Paul Roszenstein Rodan
poverty
Development with

B. |unlimited supplies of II.  |Gunnar Myrdal
Labour

¢ [Sonclommeelont | g [ Aved swie
thesis

D, |Asian Drama IV. |Ragnar Nurkse

Choose the correct answer from the options given below :
(A) A-IV, B-II, C-I, D-III
(8) A-II, B-IIIL, C-I, D-IV
(c) A-IL, B-II, C-III, D-IV
(p) A-IV, B-III. C-I, D-II

Tl 1P Y ol 11 DT HaH i

A 1 I

A |TRIST® ; gl IS

BEEERED - RIEA
oG &l

B. |3difdufd &| . [R arReEla
ary faerg

c. [PI9® FGH | 1y S 3R

|9 S " |=gfay
HEIRE) ;

B L IV. (R AE

(©)

- fau T fawedl & © Tel 3R &1 99 iy -
() A-IV, B-II, C-1, D-1II
(8) A-IL B-III, C-I, DIV
A1, B-IL, C-IIL, DIV
(0) A-IV, B-IIL, C-1, D-II

Answer Given by Candidate : D

https://test.cbexams.com/ntacuetpgcandresponses03/candresponse_r.aspx?htno=%2baa40j0RYddSttZGrkRNAQ%3d%3d&id=SuzJT7fJCGO...

Sl. No.62
QBID:14247537

Under which Sustammable Development Goal, energy 18 included?

(a) SDG 5
B) SDG 7
(¢) SDG 9

https://test.cbexams.com/ntacuetpgcandresponses03/candresponse_r.aspx?htno=%2baa40j0RYddSttZGrkRNAQ%3d%3d...
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(p) SDG 13

Tad e & 59 95 Falavia Guie! Ay &g T 82
(A) SDG 5
(B) SDG 7
(c) SDG 9
(p) SDG 13

Answer Given by Candidate : Not Answered

Sl. No.63
QBID:14247538

What has been the growth rate of the world economy m 20217
(A) 2.0%

(B) 3.9%

©) 4.8%

(D) 6.1%

2021 ¥ fay spfogamn 31 faPrd 23 fea o

(A) 2.0%

(B) 3.9%

) 4.8%

(D) 6.1%

Answer Given by Candidate : A

Sl. No.64
QBID:14247539

Match Last I with List IT :

LISTI LISTIT
A |Canon of Taxation | 1. | Alfred Marshall
E. Infant industry II. | Musgrave
Argument =
g, [Pictenhial 118 § P e o
Incidences
i, | mssieshpot £ K s il
demand

Choose the correct answer from the options given below :
(A) A-IV, B-1, C-III, D-II
(8) A-III, B-IV, C-I, D-II
(c) A-IV, B-III, C-II, D-I
(p) A-II, B-III, C-I, D-IV
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| Il 1l 11 T e S

T T T I
A W‘Tﬂ'“”ﬂ L |srcpe Al

g

I [Fsie® e
D [@nEiam | 1v |usgfay

4t div e fasedl § 9 981 Gk &1 999 Sifeu -
(A) A-TV. B-I, C-III, D-II
(8) A-III, B-IV, C-I, D-II
(¢) A-IV. B-IIL, C-IL, D-I
(0) A-IL B-IIL C-I D-IV

Answer Given by Candidate : Not Answered

C.

Sl. No.65
QBID:14247540

Ramesh and Suresh constructed their new house n thig year In the national
income accounting this transaction is considered as

(A) Inventory investment

(B) Fixed Investment

(¢) Consumption on durable goods

(p) Consumption on semi-durable goods

THR AT I 3 T B H HUAT 99 O S | P M0 SEE ¥ ¥ GHEaER &
|1 T

(A) #1E e

(B) =g Faw

(c) TewTa Tagail &1 IuHm
(D) i-feang aegaf &1 FuuE

Answer Given by Candidate : C

Sl. No.66
QBID:14247541

Given below are two statements :

Statement I : Narasimhan Committee recommended reduction of SLR (Statutory
Liqudity Ratio) and CRR (Cash Reserve Ratio).

Statement IT : Narasiunhan Committee recommended that directed credit
programme should be promoted.

In the light of the above statements, choose the correct answer from the options
given below:

(A) Both Statement I and Statement II are true

https://test.cbexams.com/ntacuetpgcandresponses03/candresponse_r.aspx?htno=%2baa40j0RYddSttZGrkRNAQ%3d%3d&id=SuzJT7fJCGO...
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(B8) Both Statement I and Statement II are false
(C) Statement I 1s true but Statement II 1s false

(D) Statement [ 15 false but Statement II 15 true

1 g1 By GU 0 € % SHSYA (Assertion A) & w9 H fifEd & O gEv 99 SR
(Reason R) & ¥4 H,

HfiEyT A TeRY FEE 3 UH. U6, SR, @UE doal o) HR EL 6. MR, (6g
! 9T B 9T $1 S5 F 8

B R: THE0H HHE B GRG0 & AJUN @ HUHH & sgral fear W)
SR FYF & ATE |, A G T Beel | ¥ 999 99gE 9T &1 999 Sifad)

(A) A ¥R R M T8I § SRR, A #1951 e @
(B) A SRR EHI T8 € SRR, A #1 W oorem TE &
() AVdi2afFRud a8 2

(D) AVE B e UeA R WEl &

Answer Given by Candidate : Not Answered
Sl. No.67
QBID:14247542
Given below are two statements :
Statement I : Zamindan system was mtroduced by Lord Cornwallis.
Statement I : Under Zamindari system wvillage land were held jontly by
communities.
In the light of the above statements, choose the correct answer from the options
given below:

(A) Both Statement I and Statement II are true
(B) Both Statement I and Statement II are false
(C) Statement [ 15 true but Statement II is false
(D) Statement I is false but Statement II 1s true

4 &1 By G 0 &, 0% SHSYA (Assertion A) & w9 H fifEd & o gAv1 996 SR
(Reason R) & U H,
HfiFUT A; TS ST J oHTgRT T 51 ue fEa)

HRU R: FHIERI 991 & 3FF1d SHeE & GR1 I & oA+ & 9960 w9 9 o8 ang|
TRIEd B F @ H, A G e et 4 9 999 9uged ST &1 909 Sl

(A) A R R 3F 981 § IR R. A &1 981 e ©
(B) A 3R R I @8l & SR R, A &1 we e =8 2
() ATSZdfETRud A8 2

(D) A ¥l 75l & OfdA R W8 &

Answer Given by Candidate : C

Sl. No.68
QBID:14247543
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Given below are two statements : one is labelled ag Assertion A and the other is
labelled as Reason R :

Assertion A : There is automatic change in the net tax revenue when level of
output changes.

Reason R : Automatic stabilization moderate aggregate spending in times of
boom and slow down.

In the light of the above statements, choose the most appropriate answer from
the options given below :

(A) Both A and R are correct and R is the correct explanation of A
(8) Both A and R are correct but R is NOT the correct explanation of A

(C) A is correct but R 18 not comrect

(D) A iz not correct but R 1s correct

# & wue fau M8 . uF AfhEYT (Assertion A) & w9 F ffEd & o guw 99 SO
(Reason R) & U H,

HYFHYT A T8 SdET 9= § 9@ 5id1 & 99 (490 1 o0 § Wa: 9gos 5 2
FRU R: Tt =G SRF oo X A4 § 999 =g = ofidiiie 5 5

IWRIEd BYH & e d, Hid 4 7 [geadl # ¥ 999 9ugad IR &1 994 il

(A) A FRREH TG § ARR, A T 95 T 7
(B) A SRR EH W8I E 3R R, A $ 78 e 76l &
() ATS 2R ud A8 2

(D) AVEl TR UfGA R W8 &

Answer Given by Candidate : B

Sl. No.69
QBID:14247544

Given below are two statements : one is labelled ag Assertion A and the other is
labelled as Reason R :

Assertion A : India's public sector helped in the development of a sound
industrial base.

Reason R : Public sector 1 under state control. The role of state in formulating
appropriate policies and providimg financial and other support has helped the
public sector.

In the light of the above statements, choose the most appropriate answer from
the options given below :

(A) Both A and R are correct and R is the correct explanation of A
(8) Both A and R are correct but R is NOT the correct explanation of A

(C) A is correct but R 15 not correct

(D) A is not correct but R is comrect

R € v Ay 0 €, % HfieuE (Assertion A) F w0 H T8 § O o S9% RO
(Reason R) & U H,

HUHYT A: YRT F Taaiae 85 5 W\ i AR & Gera | ggan fean

HRO R; GaE 59 I8 & FE-audE 1 S i 0OR $39 3R &g aur s
FEAF &4 B U0 @1 Ui ¥ gideie 849 ®1 9ga Heg e o

SR FYUT & A H, A G T Heeal § 9 999 99ged TR &1 999 Siud)

(A)
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AR THE IR R, A F o e &
(B) A R R I 981 § IR R, A &1 we v 78 &
() AvdieafFRud a8 2
(D) A W&l 5l & Ofdd R W8 &

Answer Given by Candidate : A

Sl. No.70
QBID:14247545

Griven below are two statements : one is labelled as Assertion A and the other is
labelled as Reason R :

Assertion A : Theory of social goods provides rationale for the allocation
functions of the budgetary policy.

Reason R : There are certain goods which are non-rival and these are important
for maximizing social advantage,

In the light of the above statements. choose the most appropriate answer from
the options given below :

(A) Both A and R are correct and R is the correct explanation of A
(8) Both A and R are correct but R is NOT the correct explanation of A

(C) A is correct but R 15 not comrect

(D) A is not correct but R 1s comrect

2 31 ®vH QU 7 B, U oAty (Assertion A) & =0 # [O&d € o R 38S R0
(Reason R) & ¥4 H,

HUF2E A SIS a5 &1 OG0 Suield Hiid & Hded $1 $1 [qassia a4mal gl
&RU R: $& Ffia o5l § 91 7 ufie< ok armfos o1 &1 +fisar S § Agagy ol
IWIEd BYH & T d, Hid 4 7 Feadl # ¥ 999 3uged IOl &1 997 il

(A) A 3R R EH 981 § SR R, A & 981 == &
(B) A R R I 981 § IR R, A &1 we v 78 &
(C) A WEl & 0 R 92l 78 &

(D) AVEl T2 UfGA R W8 &

Answer Given by Candidate : Not Answered

Sl. No.71
QBID:14247546

Country A requires 2 units of labour to produce a unit of X and 5 units to
produce a unit of Y; where as country B require. 3 units of labour to produce a
unit of X and 6 units to produce a unit of Y

(A) A has absolute advantage m the production of good X as well as Y
(8) B has absolute advantage in the production of both good X and Y

Though A has an absolute advantage in the production of both goods. it has a

comparative advantage in the production of Y

Though B has an absolute advantage in the production of both goods. X and Y it

has comparative advantage i the production of X
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W A B X O I U 5515 B 907 B3 & 100 2 TH1E Awgd & oed dsdl § AR Y
T F1 UF 5T &1 30 T & 00 5 5 S 96916 o0 B F1 X 76 F| 0F 555 3
IF B & O 3 TH1S Augd] B AR Y T B 06 5Pl &) 30d B3 & 00 6 5B
AogR! B Weld gSdl § |

(A) AT IHX F AU TY Y TRgel B 309F S | 0y WY B

() BFUH X 3R Y F a5afl &1 309 ¢+ | Uy ey
T F A F U SH a5l &1 50F 44 § Uy @1 59 U9 Y 9% & Sdd &
©) #ozgaEs Ty R

5 79t B &1 X a5 3R Y o5 aFl & 309 $ § (4904 1Y &, 599 U X 55 &I 9ad
(®) #53 A vz qoaes w2

Answer Given by Candidate : Not Answered

Sl. No.72
QBID:14247547

According to the Pareto Criterion, a movement from state A to state B 1s
desirable

if all agents are at least as well off m B as they were in A and at least one of
them is better off.

(B) if all agents are at least as well off m B as they were in A and no one is better
off.

if the agent with lower welfare are found to mmprove ther welfare m B in
(C) comparison to A even when those with higher level of welfare m A are found to
witness decline mn welfare.

(A)

(p) if in B all the agents are having lower difference m their level of utilities

URE Sfedl (ILC] PIECRTT) & S8R I A Y I B § Yoo dd aig-1d 8

. RN TR T Fo I FHIa el gl e iaa T A H ¥ 3R 378
MR8 ok e e e R ke

. RGN =T BH FH Y ST a4 8l Yl 6 fora- o Ieg AT ¥ SR 3
® JpE fE T |

g 19 Segur arel Toic A S e H B H 39 Heditl & ¥R § YR S Ud
(©) g,mAﬁdm SHedTU] & TR ardd Toic Wi ¢ Ol Hedivl & HHl Heyd & 36
l
(0) Ife B T FYI TSicl & GUHIAT & &R T HH R §
Answer Given by Candidate : A

SI. No.73
QBID:14247548
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| Match List I with List IT

LIST1I LIST II
A |Industrial District [. |H. Dalton
B. |Kinked Demand Curve I |A. Marshall
c. [Pt ctmemmin | 1 oty e
D. |Law of invisible hand IV. |Adam Smath

Choose the correct answer from the options given below :
(a) A-II. B-III. C-1. D-IV
(8) A-IIIL B-II. C-I. D-IV
() A-IV. B-I. C-II. D-III
(p) A-L B-IV. C-III, D-II

e 1 T1y Gl 11 o1 i Pl
T eI

A, |iERE foan I |ug SieH

B. |[ddfaa#imas I | AR

. ﬁai aﬁaﬂ.” TN T4 I |gfe vH. Sl
D. |33 e &l bsid Iv. |TsHEY

i fu U fdoedl § 9 981 3R &1 994 Sifeu|
(A) A-II B-IIL C-1. D-IV
(8) A-IIL, B-II. C-1. D-IV
(©) A-IV. B C-II. D-III
(0) A-I B-IV, C-III, D-II

Answer Given by Candidate : B

Sl. No.74
QBID:14247549

Match Last I with List IT :

LISTI LISTII
A |Inventory Theoretic Approach I |1 M Keynes
Liquidity Preference as a .
S behaviour towards risk I Vel Banmnt
C Money as a temporary abode of I iies fadiian

purchasing power

A discontinuous individual
D. |speculative demand for money  |IV. |James Tobin
function

Choose the correct answer from the options given below :

https://test.cbexams.com/ntacuetpgcandresponses03/candresponse_r.aspx?htno=%2baa40j0RYddSttZGrkRNAQ%3d%3d&id=SuzJT7fJCGO...
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(A) A-I, B-IL C-IV. D-III
(8) A-IV, B-III, C-IL D-I
(c) A-L B-III, C-II, D-IV
(0) A-IV, B-II, C-IIL D-I

el 1P 1Y Gl 11 D1 e i

TqH1 T I
A [3dedl Witfes uaE L |90 @

@EEEW’E[“ I IE I |Ss o 99

C. gﬁami%am T P I (e wiegse

D. %ﬁ% v o etad

fEars B 941 hd g

i fGu U fasedi § U 981 3R &1 99 Sifeil ;
(A) A-L B-IL C-IV, D-III
8) A-IV, B-IIL, C-II, D-1
(¢) A-L B-IL C-IL D-IV
(0) A-IV, B-II, C-III, D-1

Answer Given by Candidate : D

Sl. No.75
QBID:14247550

Match List I with List IT :

LISTI LIST II
A |Monopolies Inquiry Commission I. |2016
Monopolies and Restrictive Trade -
B |practices Act (MRTP Act) B | e
C. |The Competition Act III. |1970
D. 'Cfilge[nsoh'en::}f and Bankruptcy v oo

Choose the correct answer from the options given below :
(a) A-L B-II. C-III. D-IV
(8) A-II. B-IIL. C-IV. D-I
() A-II B-IV. C-III. D-I
(0y A-IV, B-IIL, C-IL. D-I
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| I 1 & a1y gl 11 & e Sl
T 1 T 11

A |TSHTIPR S-HAEL! HHIEH 1L |[2016

B. [°¥ Iﬁiaizwzailw I |1963
AUT S AdeRAT=aH
C. |wfawge sifufmg L. |1970

D. |sHuaadifearieaam=) ®is | v, [2002
=14 13U U faodi § 9§ 9el 3R & 904 $ifol

(A) A-L B-II, C-III, D-IV
(8) A-IL, B-III, C-IV, D-I
(c) A-Il B-IV, C-III. D-I
(p) A-IV, B-III, C-II. D-I

Answer Given by Candidate : Not Answered

Sl. No.76

QBID:14247551
Griven below are two statements : one is labelled as Assertion A and the other is
labelled as Reason R :
Assertion A : Green Revolution benefited only Punjab, Haryana and Western
Uttar Pradesh.
Reason R : Irrigation was necessary for the success of green revolution.
In the light of the above statements. choose the most appropriate answer from
the options given below :

(A) Both A and R are correct and R is the correct explanation of A
(8) Both A and R are correct but R 1s NOT the correct explanation of A

(C) A is correct but R 15 not comrect

(D) A iz not correct but R i1s correct

R & v AU 0 8, UF HfiEud (Assertion A) F w9 H T8 § O o S9% RO
(Reason R) & &0 H,

Hfi®YUA A: gd ®ifa 3 Haa dore, shamn oyl 9fid ST vem &1 8l @y dgamai
HRO R §a Hild & Ihadl & o4 R smews 9

SURlad BYUA & TS H, " G U fieedl # ¥ 999 Sugad TR &1 994 S|

(A) A JRR SHI 981 § IR R, A F w8 ogrem @
(B) A JRR ZHI W8l € SRR, A &1 58! =1 78l &
() ATS IR TG A8 2

(D) A ¥l 75l ® Ui R W8l &

Answer Given by Candidate : D

Sl. No.77
QBID:14247552
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| Match List I with List IT

LISTI LISTIT
Principle of Absolute I L
A Adciriies I |Rybczynsks
B. Effects of factor endowment B o

charges on trade

C. | Theory of reciprocal demand | 111 | Adam Smith

Factor price equalization
theorem

D. IV 1.8 Mill

Choose the correct answer from the options given below :
(a) A-IL B-II. C-IV. D-I
(8) A-IV, B-II. C-I. D-III
() A-IIL B-I. C-IV, D-II
(0) A-IIL B-IV, C-II, D-I

el 1 1Y el 11 o1 e i

T T T I
A |[Fugavsfe | 1 [UEddl
IR U 3G

B. |t7sigde uftacHi @f 1 |[3geH
g

c. [oraEReanfigra | 1L [teafEy

Jde BRSG B .
D. AR V. [9.ug fag

=i fau U fo el & ¥ Tgl 3R &1 99 Hifa
(A) A-IIL B-II. C-IV, D-I
(8) A-IV, B-IL C-I. D-III
(©) A-IIL B-1. C-IV, D-II
(D) A-IIL B-IV, C-IL D-I

Answer Given by Candidate : A

Sl. No.78
QBID:14247553
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| Match List I with List IT

Principles of Political I

Economy and Taxation

LISTI LISTII
A | Wealth of Nations I |David Ricardo
B. |Treatizse on Money II. |Jagdizh Bhagwati
C. |In defence of globalization II1. |Adam Smith
D

T |1 M. Kevnes

(a) A-III, B-IV, C-II. D-I
(8) A-L B-II, C-III, D-IV
(c) A-IV, B-III. C-II, D-I
(p) A-II, B-I, C-IV, D-III

Choose the correct answer from the options given below :

e 1 T1y Gl 11 o1 i Pl

AT

T 11

A |[d 36 HEg

1 |fds Rarel

B. [ oA HA

I STt YTl

Csj%ﬁm
BRI CRIEE R

I |(gsH iy

L [Pl o difetema
© [sEFIH s e

IV |9 TH &g

(A) A-IIL, B-IV, C-II, D-1
8) A-I B-IL, C-III, D-IV
(c) A-IV, B-IIL, C-II, D-1
(0) A-II, B-I, C-IV, D-III

Answer Given by Candidate : A

=g feu U faeedl & U Tel 3wk &1 994 Sl ;

Sl. No.79
QBID:14247554

Match Last I with List IT :

modesls

LISTI LISTII
A Permanent Income I John Maynard
" |Hypothesis T |Eevnes
3 Inter-temporal consumption I ks

C. |Eelative Income Hypothesis |11 {ving Fisher

Absolute Income
Hyvpothesis

D. IV, |Milton Friedman

https://test.cbexams.com/ntacuetpgcandresponses03/candresponse_r.aspx?htno=%2baa40j0RYddSttZGrkRNAQ%3d%3d&id=SuzJT7fJCGO...

Choose the correct answer from the options given below :
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(A) A-II B-IV, C-II. D-I
(8) A-L B-II C-IV, D-III
(c) A-IV, B-III. C-II. D-I
(p) A-IL, B-I, C-III, D-IV

e 1 T1y Gl 11 o1 i Pl

AT I
A, [ g ot L [SHHEAS B

B. %ﬂil[ﬁiimm I |f&geH &

C. |emife smaof@werr | 1L |3 feER
D. [fRugsmmuflieeaar | Iv. (AT head

=< 14U U faeedl § T Uel 3R &1 94 Sl .
a) A-IIL B-II. C-II, D-1

(8) A-L B-IL C-IV, D-III

(c) A-IV, B-IIL, C-II, D-1

() A-IL B-L C-III, D-IV

Answer Given by Candidate : C

https://test.cbexams.com/ntacuetpgcandresponses03/candresponse_r.aspx?htno=%2baa40j0RYddSttZGrkRNAQ%3d%3d&id=SuzJT7fJCGO...

Sl. No.80
QBID:14247555

Given below are two statements :

Statement I : If rows and columns are mterchanged and columns mto rows the
value of the determinant remains unaltered but the sign changed.

Statement IT : When two rows or columns are mterchanged the numerical value
of the determmant changes but the sign of the determinant remains unchanged.
In the light of the above statements. choose the most appropriate answer from
the options given below:

(A) Both Statement I and Statement II are correct
(B8) Both Statement I and Statement II are incorrect
(C) Statement I iz correct but Statement I is incorrect

(D) Statement I 15 mcorrect but Statement II 1s correct

4 & sy R Bl

FU | - ofe ue IR #1 ifeaat & wed § 9o o o =i % iEag § sem wn A
arftE =1 77 951 9gad & W HE 950 o 2

FUA 11 : 79 &1 991 (adjacent) UEaET a1 G R & o109 & SEO 9 § O IROE
&I T 719 S 9idl & W 9Riue &1 fog aialda 95 sar el

IUilad &Y & HEE § A f2u n [9eal 9 981 39 &1 994 Sl
(A) U] SRIIEAT 9T &
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| (B) mv= [ iR II 2Hf e &
(C) TFITEE AfpTdu [I sd &
(D) AT ST eI 99 &

Answer Given by Candidate : C

Sl. No.81
QBID:14247556

Given below are two statements :

Statement I : The statistical constant of the population are knovwn as parameters.
Statement IT : The square root of the standard deviation of the sampling
distribution of a statistic 1s known as the standard error.

In the light of the above statements, choose the most appropriate answer from
the options given below:

(A) Both Statement I and Statement II are correct

(B) Both Statement I and Statement II are incorrect

(C) Statement I is correct but Statement IT is incorrect

(D) Statement [ 15 incorrect but Statement II 1s correct

19 &1 sy g e R

FUq | . 99 & Sifene [@R1% 1 U= (Parameter) 50 &

&Y [1 : gifes! & uliiea- G & a9 G0 & o &) 396 3 &8 &
SWRIad HYF & IS H, 4 o8 T8 [deeal # § J51 9T &1 999 Sl

(A) FE] AR aH 90 @
(B) FuA I 3R II 2! o &
(C) FuF]9d ¢ A sy [1 s &
(D) YA ] H9d & A SUF 11 9 &

Answer Given by Candidate : C

Sl. No.82
QBID:14247557

Griven below are two statements :

Statement I : Monopolistic competition mvolves many sellers of homogeneous
products.

Statement IT ;: The oligopoly mvolves some producers of standardized or
differentiated products.

In the light of the above statements. choose the correct answer from the options
given below:

(A) Both Statement I and Statement II are true
(8) Both Statement I and Statement IT are false
(C) Statement [ 15 true but Statement II is false

(D) Statement I 1s false but Statement II 15 true

1 21 By fgu T B

FYA | ; THIHIRE Woaiiar § SAF a5gei & @ abal 51 ol

U [ : AYHR § 1oss a1 Gudiga wendl & o2 e 7 B
SRiad BU & HAE 8, A GU T Gedd! § § 98 Su &1 999 Sifug|

(A) U] RIS 9 &
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| (B) mv= [ iR II 2Hf e 2
(C) A ITHE AfpT w1 sd &

(D) AT ST eI 99 &

Answer Given by Candidate : D

Sl. No.83
QBID:14247558

Given below are two statements :

Statement I : An Adverse supply shock reduces the marginal productivity of
labor.

Statement I : Output n the short run is a function of the equilibrium condition in
the labor market.

In the light of the above statements, choose the correct answer from the options
given below:

(A) Both Statement I and Statement II are true
(B) Both Statement I and Statement II are false
(C) Statement I 1s true but Statement II 1s false

(D) Statement I 15 false but Statement II 15 true

EIERAC T AT

FuA | ; wfaga 9fd ;@ (Shock) 97 $1 9 SHGHal &1 &4 X &l ol
FYF [ : 7Y H19 | S 47 S9R S 979 6 BT HaF el o

FqRad ®YF & oA 8, 30 98 T fdhed! § ¥ Hal 3T & 944 Sl

(A) BE AR e aa e
(B) F¥H [ AR I[ SHf 3T &
(C) TAITAE AfeT Il sd &

(D) FUF ] 49 & W ST Il TA &
Answer Given by Candidate : Not Answered

Sl. No.84
QBID:14247559

Given below are two statements :

Statement I ; A rise in the rate of inflation means that the percentage rise in average
prices 1s higher than the previous one.

Statement IT : The Phillips curve suggests that a fall in unemployment 1s likely to
lead to lower rates of wage and price inflation.

In the light of the above statements. choose the most appropriate answer from the
options given below:

(A) Both Statement I and Statement II are correct
(B) Both Statement I and Statement II are incorrect
(C) Statement I 1s correct but Statement II 1s incorrect

(D) Statement I 15 incorrect but Statement I 1s correct

17 & wy= feu B

FYA [ : TGP &1 X & g &1 o § & +iwa qegl &1 wiowa 978 @ 9 ofd 81
wYA [ ; pRry 9% a1l & & siordl & frage mugdl v gewifd &1 ¥ &1 &0 S0
SR $YT & S H, " GU 0 fdFed! # 9 g8l TR &1 954 Siagl
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(A) T [ 37 11 &1 9 &
(B) T¥H [ IR el o &
(€) =T [ 9 &, AT Bu I1 30 &
(D) FUA] AT AT FA I 9 &

Answer Given by Candidate : B

Sl. No.85
QBID:14247560

Given below are two statements :

Statement I : The number of exchange possibilities that exist in a money
economy exceeds the number in a barter economy.

Statement IT : An mcrease in the length of time for which money is held will
reduce the velocity at which money circulates in the economy.

In the light of the above statements, choose the most appropriate answer from
the options given below:

(A) Both Statement I and Statement II are correct
(8) Both Statement I and Statement I are incorrect
(C) Statement I 15 correct but Statement II is mcorrect

(D) Statement [ is incorrect but Statement II is correct

41 S Fya Ry B

& [ - ga orforaen & fafmn snmamrst 31 Sen o ASeg (Barter) srfera=n
U 3w 2F

HYA [1 : 961 1 T@H & 990 § ggiadl, srioraw § 7g1 & 909 & a7 &) &5 & o)
Il HYF & HEE d, A4 f2U U Aeedi § 9 981 39 & 994 i

(A) FE] MR EH 9T &
(B) F¥HI AR &l o &
() T TAE AfFTF I swT &
(D) TN L AMFAFAIN TTR

Answer Given by Candidate : Not Answered

Sl. No.86
QBID:14247561

Given below are two statements :

Statement I : The main features of the Industrial Policy - 1991 mcludes abolition of
industrial licensing, diminishing role of public sectors, MRTP limit scraped.
conditions on entry of foreign investment and technology liberalized and so on.
Statement IT : First Industrial Policy Resolution was 1ssued i 1951.

In the light of the above statements. choose the most appropriate answer from the
options given below:

(A) Both Statement I and Statement II are correct
(B) Both Statement I and Statement II are incorrect
(C) Statement I 1s correct but Statement II 1s incorrect

(D) Statement I 1s incorrect but Statement I 1s correct

https://test.cbexams.com/ntacuetpgcandresponses03/candresponse_r.aspx?htno=%2baa40j0RYddSttZGrkRNAQ%3d%3d&id=SuzJT7fJCGO...
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41 S Fy Ry T B
Hue [ e i, 1091 =1 v fEumst # feife asdy &1 390, adaae gt
&1 YAS1 &1 9, THAREL. &1 I &1 5o, [GSE e &1 vl & fow v, o
FE1E] F1 IENIEI A
YA 11 : wuH i Hity veog od 1951 # ol e man)
FIREd ®YF & oS 8§, 0 98 U fdwedi § § Fal 3T &1 944 Sl

(A) FE] MR 9T &
(B) FYA I 3R I aHf 2@ §
() A TAE AfFTF 11w &
(D) TN L AFAFAIN TTR

Answer Given by Candidate : C

Sl. No.87
QBID:14247562

Match Last I with List IT :

LISTI LISTII

National Fural Emplovment I

g Programme (NREP) kAo
Sukanva Samridhi Yojana IT. |1980
Food for work programme

G FWP) II1. (1983
Rural Landless Emplovment

D. |Guarantee Programme IV 12015
(RLEGP)

Choose the correct answer from the options given below :
(A) A-IV, B-III. C-II, D-I
(8) A-I, B-IL, C-IV, D-III
(c) A-II, B-IV, C-I, D-III
(p) A-IIIL, B-II, C-IV, D-I
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Tl 1P Y ol 11 DT HaH i

T 1 T I

g
A f I |2001

(NREP)
&1 T
B. W(SSY} II. |1980

»1d & oy
C. |yoa sy | 1L [1983

(FWP)

A AR
p [FRIRE | 1y 5oy
b |2

(RLEGP)
1< 14U U ool § O Uel 3o &1 9499 Piteld ;
(A) A-TV, B-III, C-II, D-I
8) A-L B-IL C-IV, D-III

(c) A-Il B-IV, C-I, D-III
(p) A-III, B-II, C-IV, D-I

Answer Given by Candidate : C

Sl. No.88
QBID:14247563

Who propounded the "Jail Cost of Living Method" for determining the poverty
line?

(A) Prem Krishna Murti

(8) Dadabhai Naroji

(¢) Tendulkar Samiti

(p) Amartya Sen

T v & Fuifa s & i wa s offe ffdn &fy & uiaoes feem feane

(A) 58 F A

(B) TISTHTS ARG
(c) TR WAl
(D) @ ¥9

Answer Given by Candidate : Not Answered

Sl. No.89
QBID:14247564
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| Consider the following statements regarding arguments for free trade :

A. Free trade leads to maximization of output, income and employment.
B. Free trade prevents monopoly.
C. Free trade protects domestic industries.
D. Free trade favors the monopoly.
Choose the correct answer from the options given below :
(A) A and C only
(8) A and B only
(¢) CandD only
(p) B and D only

et sy W gog R & oy § a6 &9 ¥ fEr s

A, I57 TR IdTE4, 1 3R IR & HiiEas T 91
B. A5 T9R USSR &I Uddl o

C. a9 IR 9% SR &1 S0 Sl ol

D. Uad TR USHISR &1 90 Sl 7l

= feu 7 fawedl H § 99 Iugad IoX &1 944 Hia ;
(A) Fad A SR C
(B) waw A R B

(C) Haa C IR D
(D) HFIAT B IR D

Answer Given by Candidate : B

Sl. No.90
QBID:14247565

The core principle of multilateral trading system is :

A. Non-discrimination
B. Reciprocity
C. Protectionism
D. Domestic safeguard
Choose the correct answer from the options given below :
(A) A.B and D only
(8) B and C only
(¢) B. C and D only

(p) A and B only
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| sgueia s Tl % e Rigr B

A. R AN
B. o=l

C. HIUEs

D. T A

143U U fawed! § ¥ 9ed Iugad IR &1 999 S|
(A) ®TUA, B 3RD

(B) Haa B 3R C
(c) HT@B. C IR D

(D) FaW A W B

Answer Given by Candidate : D

Sl. No.91

QBID:14247566
Griven below are two statements : one is labelled as Assertion A and the other is
labelled as Reason R :
Assertion A : India has a big potential demographic dividend.
Reason R : India's population growth rate is declining.
In the light of the above statements. choose the most appropriate answer from
the options given below :

(A) Both A and R are correct and R is the correct explanation of A
(8) Both A and R are correct but R is NOT the correct explanation of A

(€) A is correct but R 1s not cormrect

(D) A is not correct but R 1s comrect

R € v Ay 0 €, % HfieuE (Assertion A) F w0 H T8 § O o S9% RO
(Reason R) & 4 H,

AP A: YRT F U SidE TUIEEET SSiee T gl

HRU R: YRd &1 T8 &1 3G g1 & &4 311 Wl 2

SURIEd BYA & T |, A G 1Y Weel | ¥ 999 99gad TR &1 999 S|

(A) A dRRSH TEE ARR, A B T8l I B
(B) A FRR S T8 & SRR, A &1 98 oo 981 &

(C) AT afeT R uEl i &
(D) A WS TEIEAfFA R @t

Answer Given by Candidate : B

Sl. No.92
QBID:14247567

Given below are two statements :

Statement I : A common resource 1s rival and non-excludable.

Statement IT : A public good 18 non-rival and non-excludable.

In the light of the above statements. choose the most appropriate answer from the
options given below:

(A) Both Statement I and Statement II are correct
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(B) Both Statement I and Statement II are incorrect
(C) Statement I 1s correct but Statement II 18 incorrect

(D) Statement I iz incorrect but Statement I 1s correct

I EEERIC AR

DY 1: UH GG e Afaensll € au1 TR-3bau® o

T 11 : Frai-e axq 1R Sfaegell quT R sfaavia g |

SWRIGd HYUT & STl H, i U f[dpedi § 9 9ad Sugdd SR &1 904

Bifeu |

(A) FYTIARIIEGH Td &

(8) HYAIARII A A ©

(©) PYTI A 6. Albd DU ST &
(D) BYFI I C. VP U I T ©

Answer Given by Candidate : A

Sl. No.93
QBID:14247568

Fiscal policy relates to the Government decision in respect of -

A. Taxation
B. Government spending
C. Government borrowing
D. Repo rate
Choose the most appropriate answer from the options given below :
(A) B and D only
(8) A.B and C only
(¢) A and D only

(p) C and D only
s g # wer =1 ol foeie i S aefRe

A, HIRE
B. W@ &g
C. SRl Iy
D. miE

=14 feu e fawea! § € 9e9 Iuged &1 9g9 S|
(A) HEa B AR D

(B) ®auA, B3R C

() FA #RD

(D) FEa C 3R D

Answer Given by Candidate : B
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Sl. No.94
QBID:14247569

The following data of an economy 1s given
C =1000+ 0.84
I=3500

The equilibrium level of output 15

(A) 15000
(B) 1500
(c) 7500
(p) 8000
us apforgw %1 fear ma sifest g fafaa &

C=1000+0.84
I=3500

Hr3e Qe (i) &1 Sreraw T2 &1 5T

(A) 15000
(B) 1500
(c) 7500
(p) 8000

Answer Given by Candidate : B

Sl. No.95
QBID:14247570

The first derrvative of x° 15

(A) xlogx

(B) x x*!

(©) x'(1-logx)

(p) x* (1+log x)

x* &1 YA od FI R ?
(A) xlog x

(B) x ¥l

(©) x*(1-logx)

(p) x* (1+log x)
Answer Given by Candidate : D

Sl. No.96
QBID:14247571
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The expected value of x for the probability distribution function of the random
variable given below i1s

x f(x)

9 0.25
(A) 3.25
(B) 9.5
(c) 6
(p) 12

54 aefse Wisd 9o Boa =1 0k g-y FefifEe § -
x f(x)
3 B2
6 0.50

9 0.25
(A) 3.25
(B) 9.5
(c) 6
(p) 12

Answer Given by Candidate : C

Sl. No.97
QBID:14247572

A standard normal distribution refers to a random variable that has a

(A) Mean of 1 and standard dewiation of 0
(B) Standard deviation of 1 and mean of 0
(¢) Mean of 0 and standard deviation of 0
(D) Mean of 1 and standard deviation of 1

U A T faaen U aefee @ = vefila oxa & ee e
(A) #@ | SR AES fG=ee 0 8
(B) HF= famat i Aeg 0§
(C) w0 IR HES fFme= 0 7
(D) W& | ¥R AFS 9= 1§

Answer Given by Candidate : B

Sl. No.98
QBID:14247573
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| FRBM Act, 2012 puts a ceiling to fiscal deficit of GDP at
(A) 6%
(B) 5%
(c) 4%
(D) 3%

UG AR, HYFTH, 2012 TF0 W IdE & ToaRNY 9 & =09 9H g d 9
59 W Fifa Fwa gl

(A) 6%
(B) 5%
(c) 4%
(D) 3%

Answer Given by Candidate : D

Sl. No.99
QBID:14247574

The locus of combination of output interest rate where the assets market is in
equilibrium, is

(A) IS curve
(B) LM curve
(¢) BP curve

(D) none of the above

SF3TYE 0 STWEY & (90 & [Eguy, wel uiEdd - ST9R 99 | 8
(a) IS %

(B) LM &

(c) BP 3%

(D) 59 ¥ B &
Answer Given by Candidate : C

Sl. No.100
QBID:14247575

Starting from the earliest arrange the followmng m chronological order -

A. Global Financial Crisis
B. East Asian Cries
C. Great Depression
D. Gold Standard Mechanism
Choose the correct answer from the options given below :
(a) C.D.A B
) A.B.D.C
o C.D.B.A
() D,C.B.A
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TEH UUH § U 4G 8 &1 S0 SHER add S

A, tfis foio doe
B. 7 uitEms d@e
C. HgH]

D. @l AFE uaR
I feu o fowedt € ¥ 98 IR &1 94 Bifom
(an) C.D.A. B
B) A.B.D.C

(c C.D.B. A
() D.C.B. A

Answer Given by Candidate : C
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